Chapter 9 Pre Test /! Review Name

Period
Use backtracking to find the solution of each equation.
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a  Write an equation to r e puzzle, Let xrepresent the numu7f blocks ineach bag.

b, Use the drawing to find the value of x,
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Solve each equation choosing one of these methods: backiracking, guess-check-and-improve,
or doing the same thing fo borh sides.
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4.) Mvemore thanthree times a number 12
solve ar equation to find the number,

Equation: 5+3n = h”b

103 A man 1z 25 years older than his sen. If wou double the sum ofm
get 178, _ ; (2 S .\..ﬁ%)" ,78

a. Write and solve an equation to find how old the boy 12 L' 5+5 =

2(s+ st29=178 ’

Equation: Solusion:

b, What the man's age? man: 57
23 TARS =57

110 Candice had 4 bags of marbles. The second bag has 2 more than the first. The third has
twice as many as the first and the fourth bag contains six times as many as the firs: If she

has a tozal of 62 marbles, how many marbles are in each hag, -
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Simplify ea:}mresiun asmuch as possible
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14, %Which equatlon has the same solution as 8x — 10 =34z — )7 Circle one:
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15.) “Which inecuality has the solution of x< -6 7 ﬁ
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16) p=-7
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Splve and graph. a
17.) -36 < 3w ,IQ yae ol W %:ﬁl!l =
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18) 1230 - Solutim:
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Write each inequality.
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